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Week 1

Starting Six A ACCESS MATIC
/ What is 35% of £130 \ / Work out £2.69 x 25 \

/Wr'rh 160 as a product of prime Fan’rurs\ / a) Write 0.028 as a fraction \

[b)  Simplify your answer

N '\ /
/ Solve: = = 2% \ / Factorise: 55 — 15b \

3

L] - !
Colve: 9x -5 = 6x + 7 Factorise: x” - Tx + 12

N N\ <
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Week 1
@2 Top Ten Topics —AACCESS MATHS
(Four rumbers have a medien of 1. a mean Y\ ( Shade an ares represeated by: (ad + cd)
OF 11 and a range of 14. What could they be? ‘
i — 1
\ J\_ '

(T{%‘; ME“EJI%M mﬁ%gﬁﬁm SR OF wED T 1\ I/‘H-*;"r'ife the number of left handed girls to rigm
handed boys as a ratio in its simplest form.

e OF TIE RED AEE TCED TIE A6 OF 26 Boys Girls

O TICEEE ACE (0d CADCEGERS. TOST CUCEHT S0 (6 TIE Left 9 18
CECAOETT ACE ECED THE AdE OF 252

Right| 30 | 20

1\ VAN J
l'/- AB and CD are parallel. Work out the size of angle x —\ ("‘ Expﬂl"ld: _\
a) (2a + 2)(3a - 3)
Factorise:
b) x* - 9x + 18
\. VAN J
fmmmmmaﬂmmham\ /ﬁw angles in triangle ABC are in th:.:\.
The ratio of the number of red in the box to the . A .
o n of pmhpt:':hmishﬁ ratio 4:4:1. Find Angle x.
A D
What percentage of the pens are grean? 5
G E
\_ AN /
/" & paneake recipe is made by mixing \ (Three straight lines are shown. \
eqgs, flour and milk in the ratio- 1:6:3 Work out the value of x
What fraction iz nggs¥
1 1 1
3 10 r3
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2
 J
 J
o Week 1
2
: Expressions Foundation
: I can......
¢ 1 | Simplify
: al a+a+a+a b) 2b+b+3b c)c+3c+5Cc+c gmﬁw;mm
: d) 4d-d &) Se+Je—de f) 3F—F+4f—2f invalving 1 variable
4 2 | simplify
*
: aj2a+a+2b+2b b)3a+2b+a+3b cja+3b+2a+2b Smﬂwwmm
. dj5a+2b-a+b e)3a+2b-2a-2b flda-b+2a+3b imohing 2 wariahles
2
3 | Expand
¢ *x
: a) 4{2a + b) b) 3(2x - 3y) c) 2(5x—y) Expand a single
: d) 3{10 - x) e) 5(2x + 7) f) %{4x + 8y) bracket (1)
¢ 4 | Expand and simplify
ik
: a) 2(2x + 3y) + 4x b) 3{x +4y) +2(3x-y) ) 5{2x-y)+2x+y) Expand and simpiify
: d) 3{2x + 3y) - 2(x+y] e)x+3y)-22x+y] ) 2dx+y)-2x—y) )
2 5 | Simplify
L 2 i
: a) axa b)2=xaxaxa c)4=a=x3xa Smﬂﬁmmm
P's djaxax=axbxh eldxbxax5xa fl2xb=ax¥xaxh Wit incices
2
6 | Expand
: ywe
: a) xx + 4) b) 2x(5 + x) c) dx + 3) Expand a single
: d) x{dy + 5x) &) xix-y) ) 33y - 2x) pracket (2]
¢ 7 | Factorise
: a) 15x + 25 b) 12x+6 c) Tx + 28 Fm:'* o
s
: d) 36x + 27 e) 20 + 60x f) 56+ 16x
2 8 | Factorise
 J
¢ a)wt + 6 b) 5x+x? c) 4x*—5x Fnc:* -
TISE
: d) Bx® + 9 e) 10— 15x fl 3x+ 21x
: g | Expand and simplify
: a) (x+ 3)(x+2) b} (x + &){x — 2) c) [x+ 7)ix—7) *::Im
: d) (x - 2){x -5} e) (x + B){x - &) f) (x+ 10){x - 3)
Y 3 10 | Factorise
2 a) ¥ +5x+6 b) x* + Tx + 12 c) E+x-6 mmh”:
: d) x2-2x%-8 g)x?- 25 f) ** - 100
 J
 J
2
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Week 1
Match the word with its definition
Plot Mark on a graph
Factorise Present an informed
opinion
Congruent Use a mathematical

instrument to find the
size ofa length or angle
Measure Take out the common
factor/sor into two

brackets if it is a

4 L 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
4 4
: quadratic :
. Comment Exactly the same size .
¢ and shape ¢
: Spot the Mistake :
4 4
¢ Question 1: *
4 . 4
¢ Solvetw X O ¢
: Beck{® answer. Your answer: :
TS TW X COo TS
4 Tw pQ 4
4 : 4
. A‘nswer. .
4 w T 4
4 4
: What mistake has Becky ma@de :
4 4
4 4
4 4
4 4
: Question 2: :
. Sovecw @ oW *
¢ Beck® answer Your answetr: L 4
: Expand the brackets: :
¢ ow @ O W ¢
* 0w 00 ¢
* Answer: )¢
4 \ : 4
2 W pp 4
: What mistake has Becky ma@e :
4 4
4 4
4 4
4 4
4 4
4 4
L 2 2
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Week 2

Starting Six A ACCESS MATHS
/ What is 35% of £170 \ ( Work out £3.14 x 22 \

/ Write 170 as a product of prime fan’rnr.t\ / (a) Write 0.014 as a fraction \

(b)  Simplify your answer

N '\ v
/ Snlﬂ:g = 2% \ / Factorise: 14 — 7h \

Qolve: 9x -8 = bx + 8 Factorise: x* + 9x + 18

N AN <
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Week 2

@

Top Ten Topics MACESS MATHS

KI.-:uurnumbu's have a median of 11. a marh
0f 11 and a range of 8. What could they be?

\_ Y,

4 Shade an area represented by: 2(ab + cd) _\
4

b
e e

\_ *

(ﬁnemmmmmwmmwmm N\

(-_Wr'ite the number of left handed girls as n\

The ratio of the number of red pens in the box to the
number of grean pens in the box is 7 : 1

What percentage of the pens are red?

TIEC e OF THEr (9 = 2 fraction of the total students in its simplest
0% 0 TI0E CAGIED ACE ICNGEE TIE 063 OF 26 Boys Girls O™
2% OF TIE CIED ACE OOED TIE Q6 OF 26
Left 8 18
DT (PEREETTORE OF CEDELE 05D TIE CEaeni ARE
MCEER TIE OEE OF 25
Right| 30 | 20
. VAN J
'/_hﬂ, COE and FG zre parallel. Work out the size nfmgla.r__\ (’- Expﬂl"ld: —\
A P [}
a) (2a - 2)(5a - 3)
Factorise:
b) x* + 9x - 22
\_ | 0/ \_ J
/rTharﬂ-“orl_]rn-adpmaﬂghampmﬁhabm:\ fr Prove that triangle ABC is an _-\.

\. /

ﬁ smoothie reeipe is made by hl'l'lﬂnh
blusberrios, orange and spinach in the

ratio- 3:6:1
What frastion is orange?
3 3 3 3
10 9 5 10

isosceles triangle.

{ Three straight lines are shown. \

Work out the value of x

e e

\

=
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. .
o Week 2 .
2 L 2
¢ Indices Foundation: Algebra :
: | can..... :
: 1 | Write these expressions using index notation Write :
¢ a) 2x2x2x2 b) 5X5X%5X5X5%5 € 3X4X4X3%X3%X3 | mgimde ¢
L 4 atation L 4
: 2 | Work out the value of :
4 a) 2° b} 7* o 3° Evalusate values *
in index
T |a¥ e (-2)°* 0 (-1)° " fom :
2 2
¢ 3 | Simplify leaving your answers in index form ¢
: a) 22 x 24 b) 35 x 3 €) 75 x 72 :
4 4
o 4 |Sohe . . 2
: a) 10° + 10 b) 8% = 8 c) 28 = 2¢ y-—-ieay :
® 5 [Simplify *
‘ 23 £ h 31 3 52 3 ‘
¢ a) (2°) ) (3%) c} (3%) 4
2 L 2
¢ & |Simplify 2
: a) a* x a5 b) b®* x b~! c) % ¢ :
: d) =+ e) y* =y fl (e*)* :
¢ 7 [simpi _—— 1
o TV 3 o s D4
: a) 3a® x 2a b) S5x3 x 2x c) 5y° x 3y mm :
Ling
€ 3 |simplify 4
: a) 10x>5 = 2x? b) 30y* = 5y° c) 4x* = 4x~* :
2 L 2
¢ 9 |Simplify L 2
¢ a) (3a*)? b) (10x*)* c) (5x7*)* ¢
4 4
: 10 | Write down a simplified expression for the :
PS a) Perimeter of the rectangle b) Area of the rectangle P
2 2
2 —_ 2
¢ 2 sabing using 4
2 . indices 2
4 4
: = :
y's 11 | Find the missing powers PS
: a) 2" = 16 b) 5" + 5% = 125 c) 2* x 2" = 64 :
. s
2 L 2
4 4
COPOPPPPP000 0000000009090 0009090909999999999999%9%9
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Week 2

Match the word with its

2424442222422 2222422224422 22422422422 2222 44

definition

Rotate

Work out

Solve

Simplify

Translate

Collect terms together
or cancel down

Perform one or a set 0
steps or calculations tg
arrive at an answer

Move horizontallyand
vertically by a given
vector

Turn around a fixed
point

Arrive at an answer
using a numerical or

algebraic method

Spot the Mistake

Solvep p ¢ p @

Beck® answer.

Your answer:

PP CW PG
Cw UL
Answer:
w Cd

What mistake has Becky made

Question2:
Solve- Y X

Youranswer:

Beck® answer
(&)

o, ¥ X
W

— L
1) p

Answer:
W o

What mistake has Becky ma@de
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Week 3

Starting Six _NACCESS MATHS
/ What is 35% of £190 \ / Work out £2.34 x 7 \

/Wriie 120 as a product of prime faci&rs\ / (a) Write 0.53 as a fraction \

(b) Write % as a mixed number

N AN /
/ Solve: = = 214 \ / Factorise: 16 — 12m \

3

A
Solve: 8x - 6 = 3x + 4 Factorise: x° - 4x - 12

- AN <
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Week 3

Top Ten Topics _A ACCESS MATHS

'/I-'—mn'nunﬁarshavaanﬂdhno{:ﬁ.amm\
of 6 and a range of 7. The numbers are
not infegers. What could they be?

{_Shad! an approximate area for: ¥2(ab + nd}_\
8

b

b
\_ AN _/
(ﬁnemmm,ﬁmmmmmmwmm\ (-_Wr'l'fethenun'l.berufrigh'thunde;dboysush
TG DICEE dF CmED s @ e 1 fraction of the total students in its simplest
20 OF TIOE COGIED CCE (CIHE THE 263 OF 90 : form.
0% OF TIC CIED AGE CO0ER TIE AnE OF 26 Bﬂw Girls
Left | 11 29
CADAT (EREEETIEEE OF (FEICLE 00 TIE GREREETT ARG
EEER TOE ST OF DEd
Right| 21 | 26
. AN J
i/-hﬂ, COE and FG are parallel. Work out the size Dfmgla.r_—\ F’F Expﬂl"ld: _\
a) (2a - 4)(3a - 5)
: Factorise:
b) x*-9
\_ F 5 J\_ J
f“mmma,yahﬂmdbhmmﬂnﬂﬁﬁinabﬂl\ fr Prove that triangle ABC is an _-\1

The ratic of the number of orange, yellow and blus
sweets inthe boxis 7:3:5

What percentage of the sweets are yallow?

\. /

ﬁ smoothie resipe is made by rllhﬂng\b‘
mango, borrios and kale in the rafie-
§:2:3

What fraction iz not equivalent o kale?
2 3 - ] 1

5 9 16 3

. J

isosceles triangle.

{ Four straight lines are shown. \

Work out the value of x

x + 24

.

>
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. .
. Week 3 o
2 L 2
: Linear Equations Foundation: Algebra :
: | can..... :
: 1 |solve :
: a) x+4=7 b) Sx=30 :
Sokee ane step
: :} !._5:1 dl §=5 EQuationg :
. :
: 2 | solve :
* a) dx-1=11 b) 2x+7=3 2
: Save 2 step :
Yn-4=5 d) 10-2x=5 equations
S | :
: 3 |[solve :
: a) 2(x-3)=-3 b) 3(2x+3)=-3 - :
Eguatiand
: €) 2(3-%)=5 d) 20=2(x+4) '::: :
2 L 2
2 2
& 4 |[Sohe L 4
 Z  Z
: a) %-1=3 b) % =5 . :
equationd
L 4 3r=1 _ x_ irvolving &
pe 0 — =4 d) lﬂ-i—E fractions PS
. .
: 5 | Solve :
¢ a) Z+3I=x+5 b) dx-5=2x+7 il ¢
: whers the :
wrknosm
. €) Bx+1=15-x d) 12-2x=5-x s o .
 J ath s  J
: & | The two rectangles have the same area. :
¢ Construct an equation and solve it to find the value of x ¢
2 L 2
 J *
 J  J
. 7 ol problems 2 2
* 2 usingequations | ¢
2 2
: X + 1 3x+5 :
 Z  J
 J 2
. .
 J  J
COPOPPPPPP00 0000000090000 9000909090099909909099099%90%9%9%9%9%9%9
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Week 3

Match the word with its definition

Credit Data thaican only take
certain values

ContinuoudData Money put into a bank

account
Probability Data that camake any
value
Debit The chance that

something will happen

DiscreteData Money taken out of a
bank account

Spot the Mistake

Questionl.
Solvew Ccow Oow ¢
Beck® answer. Your answer:

Expand the brackets:
W W ow @
W 0w e
Answer:

W puL

What mistake has Becky ma@de

Question2:
Which of the lengths below are equal?
@  Boa @ eatd
David? answer. Your answetr:
Convert all to metres:
@ TS @
LA T @
¢ eata @A
Answer:
@ @ and g 4

What mistake has David ma@e
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Week 4

Starting Six A ACCESS MATIC
/ What is 35% of £150 \ ( Work out £2.54 x 9 \

\ AN /
/ Write 110 as a product of prime f:n'lnrs\ / (a) Write 0.47 as a fraction \

(b) Write 2—: as a mixed number

- AN /
K Solve: - = 2% \ / Factorise: 18 — Om \

T |
Solve: 9x-10 = 3x + & Factorise: x” - 4x + 4

- AN <
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Week 4
@ Top Ten Topics _AACCESS MATHS
/F'_W'-" numbers have a median of 4. a mn\ﬁ 4 Shade an area represented by: o' +3a + 2 )
of 5 and a range of 9. The numbers are a+2
not infegers. What could they be? a+1
2a 2a
a E
1
o AN "
R e
S0%h UF TIE TRICIED QG UED TIE OEE OF 50 Boys Girls
&A% OF TIE CED OCE T0ED TIE 06 OF 50
Left | 27 | 63
RYMAT (EEEITARE OF CRIFLE 00 THE CAceoly J06
DD TG (EE OF $02
Right| 50 | 18
\. AN _/
[Aﬂ. CDE and FG are parallel. Work out the size of angle ;\ /r- Exp-und: ﬂ\
5 1| q) 2a + 1)(3a - 1)
: Factorise:
b) x? - 25
\_F AN _/

ﬁmmwmga,:ﬂlﬂwmdhm mminahu}.\ /'I;rwa that triangle ABC is not an_\q
The ratio of the number of oranga, yellow and blua . .
i theboxis7:5:4d isosceles triangle.
A D

What parcantage of the sweets arae blua®

E
\. SN
,/E smoothie recipe is made by lﬂlﬁn;\ (Four straight lines are shown. \

iee, orange and beetroot in the ratio- Work out the value of x

2:5:1
What frastion ic not equivalent 1o jee? Ex + 3°
3 5 (] 1
12 20 KT a 7% -8
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L 4 L 4
4 4
4 Week 4 4
4 4
: Formulae Foundation :
¢ [can.... .
: 1 | Find the value of :
¢ ajT=2a b) T=h+4 €)T=3c-.2 ¢
¢ whena=4 whenb=3 whenc=5 Su.bsrﬂu':puﬂilt ¢
4 . - L 4
: d) T=10-d o) T=2 f) T = 100 - 24 ' Eh?:':;:mk :
. whend=>5 S when f= 10 .
4 L 4
2 | Find the value of
: ajT=2a b) T=h+4 c)T=3c-2 :
¢ when a = -4 whenhb=-3 when ¢ =-5 + ¢
2 Substitute negative 4
* d) T=10-d o) Tzt f)T = 100 - 24 integers into simple *
) .
: when d = -5 . when f=-10 formuige :
. :
DS 3 | Find the value of P'S
L 4 a)y=x* b) y = 3x c)y=2{x+4) i L 4
¢ whenx=3 when x=2 whenx=5 Substitute pasitive ¢
4 _ _ 4
. Ry=2r e)y=20-¢ Wy=VTeFT | fomaee | &
. whenx=3 when x=4 whenx=9 ¢
L 4 L 4
'Y 4 | Find the value of &
¢ ajy=x+2 bjy=5-x EH‘=£ ¢
* when x = -1 when x=-2 when x = -3 *k *
¢ Substitute negative ¢
iategers into comph
: d) v = 5 e)y =3t + 2 fly=2x-5x ' Ef:;m.:‘ . :
¢ when x = -2 when x=-1 when x = -5 ¢
4 4
4 5 | Find the value of ¢
: a)y=4x-3 b)y=18x"+2 c)y=12-12x . :
* when x = ¥ wheﬂ,l:g when x = % Substitute negative P'S
¢ and pasitive froctional 2 3
: d)y = e]l'g'=ﬁ-9fl ﬂw,r=m.3m1 WM;D:r?:GEPH :
when x = -% when x=-= when x = —
‘ 3 1D ‘
: 6 | A taxi fare is fixed charge of £3 plus £2 for each mile of the journey. :
¢ Write a formula to calculate the fare F for a journey of x miles. r'S
L 4 L 4
2 7 | The monthly charging plan for a phone is 10p per text with a fixed charge 2
: of £5 per month. Write a formula to calculate the monthly cost M, when x i :
texts are sent. Write o formula
4 4
: 8 | The entrance charge to a Theme park is £20 for an adult and £15 for a :
r's child. Write a formula to calculate the total cost T for a adults and ¢ r's
¢ children to visit the park. ®
4 L 4
COPOPPPPPPP00 0000000000000 009090909009090909999%9%9%9%9%9%99
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Week 4
Match the word with its definition
Prism The connection between th
sides of a rightangled
triangle
Perimeter The distance around a 2D
shape
Polygon A ratio out of 100
Percent A solid object with two
identical ends and flat side|
Pyt hagorasboé A 2D shape with straight
sides

Spot the mistake

Adam hag; x muillilitres of drink remaining.
Brittany has;& centilitres of drink remaining.
Chloe hasi® dgitres of drink remaining.
Who has the most drink left?
David3 answer. Your answer:
Convert all to millilitres:
¢ Xaua ¢ xata
Cwa ¢ Yara
T8 @ ¢ @aa
Ansv!er:
8w a

What mistake has David ma@e

Question2:
¢ SNNEQ&a | AUOKSYy aolFfSa IINB 2yf e
o& kilograms of potatoes. What should the scale read if he has conver
correctly?
David2 answer. Your answer:
08 QQ o ¢ 1
Answer:o ¢t matQ
What mistake has David nake?
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Week 5

Starting Six N ACCESS MATHS
/ What iz 35% of £85 \ ( Work out £0.59 x 25 \

KWr'rh 104 as a product of prime Fanhurs\ / (a) Write 0.24 as a fraction

VAN

(b) Workout> + 2
5 3

\ AN
/ Solve: - = 3% \ / Factorise: 18m — 9

AN

1 222222222 2222222222222 2222222222 22222222222 222222 2222222222282 248 22

(O [
Solve: 13k -12 = 8x + 8 Factorise: x° - 7x - 18

N N\ 4
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Week 5
Top Ten Topics __ N ACCESS MATHS
(E_W'-" numbers have a median of 6. a rnean\ 4 Shade an area represented by: 44" A
of 6 and a range of 4. The numbers are a+2
not infegers. What could they be? a4+ 1
2a 2a
a E
1
\_ AN -
(mommammas [
20% F TIE CAICICD) CGE QUES THE GEE OF 50 Boys Girls
2% UF TIE CEE 0T DEDE: TIE SEE UF 20
Left | 39 | 26
EALET CEDCEITAEE OF FEFLE 0 THE COMFECY GEG
WUEC: THE GEE OF 90t
Right | 42 | 18
\. J N\ /
(rﬁ.ﬂ. COE and FG are parallel. Work out the size nfangle;\ 4 Expand: )
' || a) 2a + N2a-1)
: Factorise:
b) x2 - 49
\_f ' L _/

ﬁmmwmga,yﬂlﬂwmdhmmminah;ﬁ.\ fr Prove that triangle ABC is an 1\.
Tha ratio of the nuimber of orangs, yellow and blus

e in the boxis 3z 13: 4 isosceles triangle.

A D
What poircontage of the sweets are oranga”

E
\. NS
/B drink recipe is made by mixing ice, (Four straight lines are shown. \

apple and sinnamon in the ratio- 3:6:1 | | ol out the value of x

What fraction iz not oquivalent te

apple?® 2x+7)°
9 27 249 12
15 as 35 I apx + 1)° k
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